
Addition and Subtraction Balancing
Calculate the missing number in each equation.

- 110 = 2534 + 135

1334 + 259 = - 172

5129 - = 4825 + 146

5263 + 184 = 5692 -

9633 - 326 = + 342

+ 295 = 8127 - 221

9231 - 253 = 4168 +

2636 + = 8961 - 3258
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Addition and Subtraction Balancing 
Answers

2779 - 110 = 2534 + 135

1334 + 259 = 1765 - 172

5129 - 158 = 4825 + 146

5263 + 184 = 5692 - 245

9633 - 326 = 8965 + 342

7611 + 295 = 8127 - 221

9231 - 253 = 4168 + 4810

2636 + 3067 = 8961 - 3258
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Addition and Subtraction Balancing
Calculate the missing number in each equation.

- 5.6 = 11.7 + 2.5

17.8 + 3.3 = - 2.1

21.4 - = 12.9 + 6.6

21.2 + 4.9 = 29.9 -

31.3 - 5.2 = + 21.2

+ 3.9 = 35.1 - 2.9

49.2 - 5.8 = 4.1 +

7.5 + = 38.9 - 8.2

visit twinkl.com



Addition and Subtraction Balancing 
Answers

19.8 - 5.6 = 11.7 + 2.5

17.8 + 3.3 = 23.2 - 2.1

21.4 - 1.9 = 12.9 + 6.6

21.2 + 4.9 = 29.9 - 3.8

31.3 - 5.2 = 4.9 + 21.2

28.3 + 3.9 = 35.1 - 2.9

49.2 - 5.8 = 4.1 + 39.3

7.5 + 23.2 = 38.9 - 8.2
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Addition and Subtraction Balancing
Calculate the missing number in each equation.

- 2.56 = 1.35 + 7.41

12.3 + 45.2 = - 2.13

62.21 - = 22.9 + 15.4

3.68 + 2.47 = 8.42 -

4.32 - 1.31 = + 2.12

+ 2.91 = 7.12 - 2.02

39.53 - 11.26 = 14.18 +

75.43 + = 92.83 - 14.53
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Addition and Subtraction Balancing 
Answers

11.32 - 2.56 = 1.35 + 7.41

12.3 + 45.2 = 59.63 - 2.13

62.21 - 23.91 = 22.9 + 15.4

3.68 + 2.47 = 8.42 - 2.27

4.32 - 1.31 = 0.89 + 2.12

2.19 + 2.91 = 7.12 - 2.02

39.53 - 11.26 = 14.18 + 14.09

75.43 + 2.87 = 92.83 - 14.53
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